BOSFFEEOEMEE (55— 1 —ORERIELH)
1

FOAZIRE S IB1T D 5cr 1 > H o5 g%
e kA PR EERIZ BT HFEDT s o N Ny A=
£ A A D
2 AR 2 )~ HEO7E %
5 A FREEMIZET 2 FEDT ek = N Al =
#£ A
£ A
27/ HEF B E
3 Bl 3 AR EEMEIZET 2 FEDOTR LEED)

(A+B) +3=C M

(1) Har 3MAMOEESIROTE EEFICHT 5, HEEMIIB T2 HEORT 1 » A DIE E&
EOW VR DB

= (C—A) ~ (D+E) X100= %=5%

4 Falt 37 H B OAEZERIKROTE EEmEDY)
(D+E) +3=F

]
(2) BEMROTE LEEORDFE

= (F—D) +F X100= %= 59%
(TS
1

il 1707 ) 13, EFRAEROTE L@ 00D IEE D H T

(it 172 H QI ZTFTIIFAIEW L ETOT, #K 9 HETRHEEIZI V)
2 EHGEEEIZ2ERERR L TS IZEN,

3 PEEEECEIEA (PESHLET6 HUMNIIEB RN BITOLO), IEAREE, EREEDZEN
FNOELEZTMF L TLIEE0,

4 TNTNOTE LEFEORM GUEER, Julk, 72 LRk, FRAIR, HEE, MlkE, F5RE, Bk
%) ERHLTEZS N,
o

FEEE T OZEREIZ I A AKEAERESE /PR (TR 25 4F 10 HUE) (TS S RFPEERE OfRES
% TR ) ROV THOPERSEMY ) 2Rt L T<7I2a 0y,

p={100

S
= £ Kk
ARl IMEZEE FPRIRIESS 2 2550 5 THEE 5 SR O EHFE &%
(Gl RE 4 2 ) ICFHEL £,
sf # A H
HIEE

(B4 SUIFA TR




